ASSEMBLY INSTRUCTIONS

Panel bed
Assembly Instructions

o

ad thisinstruc

purchasing our product. Pleasere

G

emble this product

iving this product. It will help you ass

i

al for future reference.

keep this manu

ly. You can

<
=2



ASSEMBLY INSTRUCTIONS

IMPORTANT

Please follow the instruction manuals and use a pad to protect
the product during your assembly.

. Note:
. 1. Should be assembled on flat ground to keep balance.
. 2. Before completing the installation, do not tighten the screws.

For easier and better assembly, 2 or more adults are

required.
1/29






ASSEMBLY INSTRUCTIONS
PARTS LIST




ASSEMBLY INSTRUCTIONS

PARTS LIST

1PC

1PC

1PC

N

1PC

1PC

1PC

1PC

1PC

4/29



ASSEMBLY INSTRUCTIONS

PARTS LIST
(A O
M8x12 M8x20. M8x25
30PCS Colored Zinc 12PCS 8PCS
® O
M8x30 M8x33
Colored Zinc 12PCS 4PCS 32PCS
©
ST4.2x12
M8x55 5PCS 6PCS 2PCS
@
=
©6x40 ®15x9.5
22PCS 22PCS 22PCS
(N
M8 1PC M8 1PC M5 16PCS
(Q

24PCS

1PC

5/29




ASSEMBLY INSTRUCTIONS

6/29



ASSEMBLY INSTRUCTIONS




ASSEMBLY INSTRUCTIONS




ASSEMBLY INSTRUCTIONS

9/29



ASSEMBLY INSTRUCTIONS

M ©15%9.5 | 4 pes

10/29



ASSEMBLY INSTRUCTIONS

11/29



ASSEMBLY INSTRUCTIONS

The G screws are used to prevent
part 21 from falling. Insert holding
assembly 21 and finally tighten in

The UP TAB is on the back,
you can not see the UP TAB
when you are installing I




ASSEMBLY INSTRUCTIONS

13/29



ASSEMBLY INSTRUCTIONS

]

the front

the UP TAB

The UP TAB is on

you can see

installing I

when you are

o
c O
W.m
o B
= O
o c
or
[0)
MS
n £
- 5
Q c
® =
n 8
=
()
= O
O |~
Sf
N
O N
2%
= a

assembly 22 and finally tighten in

14/29



ASSEMBLY INSTRUCTIONS




ASSEMBLY INSTRUCTIONS

A Direction of attention

) 2
Al wsxaz Pes
D ﬂ 3pcs
M8x30(colored zinc)
/.

A Direction of attention

M8x12

M8X30(Colored Zinc)

16/29



ASSEMBLY INSTRUCTIONS

A Direction of attention

P 2
Al wsxaz bes
D ﬁ 3pcs
M8x30 colored zinc)

17129




ASSEMBLY INSTRUCTIONS

18/29



ASSEMBLY INSTRUCTIONS |
A Direction of attention

19/29



ASSEMBLY INSTRUCTIONS




ASSEMBLY INSTRUCTIONS




ASSEMBLY INSTRUCTIONS




ASSEMBLY INSTRUCTIONS




ASSEMBLY INSTRUCTIONS




ASSEMBLY INSTRUCTIONS




ASSEMBLY INSTRUCTIONS

<
TN

s
&\

/

JY L

/)

\l\rl.ﬂdla
X

,v,

A\
“ls\\\

W

.......

9




ASSEMBLY INSTRUCTIONS




ASSEMBLY INSTRUCTIONS

/
@ @ short 45
- © 7
[ N
: ] [ —
\ \ \ \
i \ \ [ !
- - \ \
] ° f ° L @t Q B i@ % ) ) %@
f fis el
Attach the short LED strip to K @
the bottom of the 15 and 17. short 1pc
- /_
/

Attach the long LED strip to -

the bottom of the bed in the
direction of the arrow.

A Note:

The long LED strip is attached to
the place as shown on the graph.

long

< B .

long 1)

28/29



ASSEMBLY INSTRUCTIONS




